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* 1 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥= (W 4+u*2+... —u—1)

(i) Arc colorings

0
aio = \u

1
as = u2

u

ann = \ud+u

w? 41
ag = \ gy + 242

—u
ag = U

—ud —2ud +u
ap = W+ 3ud+u

u’ + 4u® + 4ud
ag = \u? +5u’ + Tu® +2u® +u
—ut? —7ul0 — 1708 — 1668 — du* +u? + 1
a3 = \ —y! — 8u!? — 23u!0 — 2848 — 14’ — 4u* + u?
—u?t —13u?2 + - =Byt + 1

az = \u?* 4+ 1402 + - - — 30uS — 10u*

—utT — 10u'® — 3903 — T4ul — 69u” — 2607 + 4u® + 8u + u
a7 = —ul® — 11" 4+ 3

—u'7 — 10u® — 394! — 74ult — 69u° — 2607 + 4u® + 8uP + u
ar = —u® — 11!+ 4+ 3P 4w

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?? — 4u3! — 80u3® — 761 — 704u?® — 632u2" — 3580u?® —
3016u2% — 11624u>* — 9108u?3 — 25160u?? — 18136u?! — 36848u?0 — 24152u'® —
36272u'® — 2145617 — 22940u'6 — 12348u'® — 7568u'* — 3960u'? + 668u!? — 108u'! +
1756u'® + 388u” 4 672u® + 200u” + 28uS + 44u® — 28u* + 32u® — 8u? + 12u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq B u o tut1
C2 w4+ 19u? 4 —3u—1
C3,C7,C8 u33—U32+"'+U+5
C4,C5,C9 EE . > SR P |
C10
i u® — 11u* + - + 825u — 187




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cq yB419y3 2 4 =3y —1
C2 y33_9y32+._15y_1
c3,C7,C8 Y3 — 3732 + ... 4+ 281y — 25
C4,C5,C9 y33+39y32+73y—1
C10
i1 y33 — 21932 + ... 4 34353y — 34969




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.432708 4 0.8356881

—10.12330 + 1.050321

—7.28000 + 0.768251

u = —0.432708 — 0.8356881

—10.12330 — 1.050321

—7.28000 — 0.768251

u = —0.467680 + 0.8079311

—9.85167 — 8.366201

—6.60862 + 7.121057

u = —0.467680 — 0.8079311

—9.85167 + 8.366201

—6.60862 — 7.121051

= 0.441389+ 0.8067371

—6.24327 + 3.550681

—3.65965 — 4.089401

0.441389 — 0.8067371

—6.24327 — 3.550681

—3.65965 + 4.089401

u= 0.410896 + 0.6323411

—1.74331 + 5.245201

—3.08967 — 9.507501

u= 0.410896 — 0.6323411

—1.74331 — 5.245201

—3.08967 + 9.507501

= 0.189812 + 0.7282811

—3.26709 — 0.398651

—8.78755 — 0.399151

u= 0.189812 — 0.7282811

—3.26709 + 0.398651

—8.78755 + 0.399151

u = —0.643564 + 0.0264631

—7.51632 + 4.641531

—2.88542 — 3.111881

u = —0.643564 — 0.0264631

—7.51632 — 4.641531

—2.88542 + 3.111881

u = —0.333302 + 0.5431131

0.01425 — 1.435431

1.18967 + 5.274441

u = —0.333302 — 0.5431131

0.01425 + 1.435431

1.18967 — 5.274441

u= 0.620531

—3.83643

0.489420

u = —0.347286 + 0.3672811

0.489336 — 1.1051901

3.80448 4- 5.831901

u = —0.347286 — 0.3672811

0.489336 + 1.1051901

3.80448 — 5.831901

u=0.445942 + 0.1899341

—0.50516 — 2.210661

1.15388 + 3.331621

u= 0.445942 — 0.1899341

—0.50516 + 2.210661

1.15388 — 3.331621

u = —0.02425 + 1.528261 —5.83685 — 2.021481 0
u = —0.02425 — 1.528261 —5.83685 + 2.021481 0
u = —0.07256 + 1.570341 —7.21966 — 2.796551 0
u = —0.07256 — 1.570341 —7.21966 + 2.796551 0
uw= 0.10256 4+ 1.581151 —9.24914 + 7.075911 0
w=0.10256 — 1.58115] —9.24914 — 7.075911 0
u= 0.04854 4+ 1.612361 —11.31290 + 0.478691 0
uw= 0.04854 — 1.612361 —11.31290 — 0.478691 0
uw=0.12471 + 1.640617 —14.6375 4 5.70631 0
uw= 0.12471 — 1.640611 —14.6375 — 5.70631 0
u = —0.13328 + 1.642407 —18.2479 — 10.65891 0




Solutions to I} V—1(vol ++/=1CS) | Cusp shape
u = —0.13328 — 1.642401 —18.2479 4 10.65891 0
u = —0.11947 4 1.649261 —18.6687 — 1.05641 0
u = —0.11947 — 1.649261 —18.6687 + 1.05641 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce uB 4+ fu+l
C2 u 1962+~ 3u—1
c3,C7,C8 uB -+ 4 u+5b
C4,C5, C9 u33_u32_~_”._u+1
C10
i u?® — 11u*? + - -+ + 825u — 187




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, o Y 41997+ =3y —1
Co y3379y32+715y71
c3,C7,C8 y*3 — 37y -+ 281y — 25
C4,C5, C9 y33+39y32+“._3y_1
C10
c11 Y33 — 2132 + - 4 34353y — 34969




